<BTFOH>
1[al

1/ /B W
3IFHNTFR
5 )0 F &
T¥ H® M
2[alk

8 B 1 & B2
#
s}
U BERES
3]

16 BE Fn % Bx

4

10 3

12 = &

18 — #
20 B Fn % Br
22 T

<EFDE>

IREIL
TR B

VAR
P
T BE fn % B

Jll

& X

R MR
7 0 F R

1% W M
RIEIL
v WR B

t )\ F R 2
e

4 BB Fn % bR
s

v BB

FIRGR B IRE RSN RAR—)LiiE
BIH:6H11H(1)-12(H)-18(14:)-19H(H) 2022/6/11
=2 0 IR S T R E A - T R e R A
o Th 2B B &R E R AU 2R B A
23[W-8]1rwm  w 2% w295 0]14
20 [12°2] 21w aemmwm 242 12]22mw %
26 [L]19 sser om F & 21 [ 5]16 men®
28[-41]15+ &
37[0-2] 9 mmemm omxmFm 29[l 5]15m @
22 [193:190] 19 % & uTEmE 49 (2 ]21 BEATR
38 [ 8] 13 #mme A F /2[99 20% &5 &
21[%3]14@%@ s I 39[R 2] 15 % W oM
34 ﬁj]lS%k&ﬁ TrEEE 29[ B3]z
[ ]1r e F o/ o9m 24 [2 010 mERS
35 [20 8120 Fmmse 2um 27 [B10]20 = & M
2 [1° 1] 23 man 0L
3L k- TR %

0[] & mrFul[Blilirt =
[ 4] mFAs
39 [N 3] 5 mwmm Armmwmm [ T]15E K
26[30] 08k »r 2w x5 wm2[lt]litEe m &
28[18°7T]12% % 7 rethrm 17[0 2]11 2mEx
26 [L-t]oswampr s#ER23B[E 2] 5 mm x
Tmte 3 - 2
33[18°27] 9 Fammm zsmwews 3[7 0]12% B

0[10°2]6 mtaxm vEE®Re28[111]7 28 m
43 [19°8] 12 somwnmm s F RI5[L 7] 14 BERS
2[4 018 A F kG

S0 REERA L, AU WA R



